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1. ................... utility means that an

individual can attach specific values

or numbers of utils from consuming

each quantity of a good or basket

of goods.

(A) Ordinal

(B) Marginal

(C) Cardinal

(D) Equi-marginal

Economics
Paper II

II
Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

(100) (2)

1.

(A)

(B)

(C)

(D)
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2. The following diagram typically

represents ............... of ..............

production function.

(A) Total cost, non-linear

(B) Total fixed cost, linear

(C) Total cost, linear

(D) Total fixed cost, non-linear

3. ............. refers to the covering of a

foreign exchange risk.

(A) Arbitrage

(B) Hedging

(C) Purchasing power parity

(D) Mint parity

2.

(A)

(B)

(C)

(D)

3.

(A)

(B)

(C)

(D)
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4. A ................ results when each player

adopts the strategy that gives her

the highest possible pay off if her

rival sticks to the strategy she has

chosen.

(A) Partial equilibrium

(B) Nash equilibrium

(C) General equilibrium

(D) Long-run equilibrium

5. Price set by an authority is called

................. price.

(A) Transfer

(B) Fixed

(C) Administered

(D) Limit

6. Positive Net Present Value (NPV)

means that the expected return on

the project exceeds :

(A) Opportunity cost of funds

(B) Variable cost of funds

(C) Fixed cost of funds

(D) Variable and fixed cost of funds

4.

(A)

(B)

(C)

(D)

5.

(A)

(B)

(C)

(D)

6.

(A)

(B)

(C)

(D)
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7. Absolute value of the slope of the

production possibilities frontier at

any point :

(A) is equal to the marginal rate of

transformation

(B) is equal to the marginal rate of

substitution

(C) marginal rate of substitution

is equal to marginal rate of

transformation

(D) marginal rate of substitution is

not equal to marginal rate of

substitution

8. The first theorem of welfare

economics states that :

(A) A competitive equilibrium is

Pareto efficient

(B) A competitive equilibrium may

be Pareto efficient

(C) A competitive equilibrium may

not be Pareto efficient

(D) A competitive equilibrium

maximises profit

7.

(A)

(B)

(C)

(D)

8.

(A)

(B)

(C)

(D)
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9. The first fundamental theorem of

welfare economics assumes the

supply of :

(A) Inferior goods

(B) Public goods

(C) Common goods

(D) Giffen goods

10. Asymmetric information results

into :

(A) Market efficiency

(B) Adverse selection by consumer

(C) Government failure

(D) Market success

11. ‘‘As the quantity of one variable

input in a production process is

increased, with quantities of other

inputs remaining constant

...........firstly increases, then after

reaching a maximum, starts

decreasing and finally becomes

negative.’’

(A) Marginal cost of the product

(B) Value of marginal product

(C) Marginal physical product

(D) Marginal revenue product

9.

(A)

(B)

(C)

(D)

10.

(A)

(B)

(C)

(D)

11.

(A)

(B)

(C)

(D)
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12. To get economy out of a slump,

Keynes suggested that :

(A) Increase both taxes and Govt.

spending

(B) Increase taxes and reduce Govt.

spending

(C) Reduce both taxes and Govt.

spending

(D) Reduce taxes and increase

Govt. spending

13. In a circular flow of income,

Keynesian equation is obtained

when :

(A) S = I, T = G

(B) S + T + M = I + G + X

(C) There is no inflation or

unemployment

(D) S = I, M = X

12.

(A)

(B)

(C)

(D)

13.

(A) S = I, T = G

(B) S + T + M = I + G + X

(C)

(D) S = I, M = X
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14. Which of the following ratios best

describes the GNP deflator ?

(A) Nominal GNP to real GNP

(B) Real GNP to nominal GNP

(C) Nominal GNP to real GDP

(D) Real GNP to real GDP

15. Demand side unemployment is

partly caused by :

(A) Imperfections in labour market

(B) Occupational and geographical

immobility of factors

(C) Demographic changes

(D) A lack of aggregate demand

14.

(A)

(B)

(C)

(D)

15.

(A)

(B)

(C)

(D)



10

JUN - 11220/II—A

16. Which of the following hypothesis

says that the young generation

saves while the old generation

dissaves ?

(A) Human capital

(B) Life cycle

(C) Permanent income

(D) Keynesian consumption

function

17. Which of the following is likely to

have a negative effect on aggregate

consumption ?

(A) An increase in expected

inflation

(B) A temporary increase in labour

income

(C) An increase in nominal interest

rate

(D) A permanent increase in labour

income

16.

(A)

(B)

(C)

(D)

17.

(A)

(B)

(C)

(D)
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18. The ratio of the change in the output

to a change in autonomous spending

that causes the changes in the

output is called ...............

(A) Marginal propensity to save

(B) Multiplier

(C) Accelerator

(D) Marginal propensity to consume

19. According to monetarism, the

demand for money depends upon

........................

(A) Inflation rate

(B) Interest rates on bonds

(C) Rate of returns on all assets

(D) Money supply

18.

(A)

(B)

(C)

(D)

19.

(A)

(B)

(C)

(D)
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20. The Aggregate Supply (AS) curve

and Aggregate Demand (AD) curve

in a realistic Keynesian world are :

(A) AS : fully horizontal; AD :

downward sloping

(B) AS : horizontal only fill the

employment level; AD :

downward sloping

(C) AS : vertical, AD : upward

sloping

(D) AS : horizontal; AD : vertical

21. The quantity theory of money

implies that given the velocity of

money, a given percentage change

in money supply would cause

..................

(A) An equal percentage change in

nominal GDP

(B) A larger percentage change in

nominal GDP

(C) An equal percentage change in

real GDP

(D) A smaller percentage change in

nominal GDP

20.

(A)

(B)

(C)

(D)

21.

(A)

(B)

(C)

(D)
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22. Probability of (A � B) = P(A ��B) =

(A) P(A) + P(B)

(B) P(A) + P(B) – P(A � B)

(C) P(A) + P(B) + P(A �� B)

(D) P(A)/P(B)

23. If X1, X2, ......... Xn is a random

sample from a normally distributed

population with mean µ and

variance �2 and let 
2

2 (X X)
S

1
i

n

� �
�

�
,

then 
2

2

S
( 1)

C
n �  follows :

(A) Chi-square distribution

(B) F-distribution

(C) t-distribution

(D) normal distribution

22. (A � B) = P(A � B) 

(A) P(A) + P(B)

(B) P(A) + P(B) – P(A � B)

(C) P(A) + P(B) + P(A �� B)

(D) P(A)/P(B)

23.  X1, X2, ......... Xn µ

�2

2
2 (X X)

S
1

i

n

� �
�

�

2

2

S
( 1)

C
n �

(A) Chi-square 

(B) F-

(C) t-

(D)
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24. Suppose, in a regression model,

Yi = � + 	Xi + ei; covariance

between X and e is not zero.

Then :

(A) OLs estimates are biased and

inconsistent

(B) OLs estimates are biased but

consistent

(C) OLs estimates are unbiased but

inconsistent

(D) OLs estimates cannot be

calculated

25. A random walk time series is :

(A) Stationary

(B) Impossible to analyze

(C) Non-stationary

(D) Not useful in real world

26. Rejecting the null hypothesis when

it is true is referred to as :

(A) Type II error

(B) Type 0 error

(C) Type I error

(D) Type III error

24. Yi = � + 	Xi + ei

e

(A)

(B)

(C)

(D)

25.

(A) (Stationary)

(B)

(C) (Non-stationary)

(D)

26. (Null hypothesis)

(A) Type II error

(B) Type 0 error 

(C) Type I error 

(D) Type III error 
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27. P = 20 – 3q

C = 3 + 2q2

(A) 1

(B) 3

(C) 2

(D) 4

28. y = 3x2 – 6x + 10

y 

(A) 1

(B) 2

(C) 3

(D) 0

29. X = {0, 1, 2, 3, 4, 5, 6, 7,

8, 9, 10} A = {2, 3, 1}

B = {4, 5, 6} AC�� B

(A) {4, 5, 6}

(B) {1, 2, 3, 4, 5}

(C) {2, 4, 5}

(D) {5, 6, 8}

27. If P = 20 – 3q is the demand function

and C = 3 + 2q2 is cost function, the

profit maximizing output is :

(A) 1

(B) 3

(C) 2

(D) 4

28. Let y = 3x2 – 6x + 10. Which value

of y minimizes this function ?

(A) 1

(B) 2

(C) 3

(D) 0

29. Let A = {2, 3, 1} and B = {4, 5, 6}

be subsets of X = {0, 1, 2, 3, 4, 5,

6, 7, 8, 9, 10}. Which of the following

describes AC� � B ?

(A) {4, 5, 6}

(B) {1, 2, 3, 4, 5}

(C) {2, 4, 5}

(D) {5, 6, 8}



16

JUN - 11220/II—A

30. Y = Ak�L	

(A) �� =� 	

(B) �� +� 	� = 1

(C) �� +� 	� = 0

(D) �� +� 	� < 1

31.
2 1

A = .
1 2


 �
� 

� 
� �

A–1

(A)

2 1

8 4

1 1

8 4


 �
� 

� 

� 

� 

� �

(B)

2 1

4 4

1 2

4 4

�
 �
� 

� 

� 
�
� 

� �

(C)

2 2

4 4

1 1

4 4


 �
� 

� 

� 

� 

� �

(D)

2 2

4 4

1 1

4 4


 �
� 

� 

� 
� �
� 

� �

30. Let Y = Ak�L	 be the Cobb-Douglas

production function. When does this

function exhibit constant returns to

scale ?

(A) �� =� 	

(B) �� +� 	� = 1

(C) �� +� 	� = 0

(D) �� +� 	� < 1

31. Let 
2 1

A = .
1 2


 �
� 

� 
� �

 Then A–1 is given

by :

(A)

2 1

8 4

1 1

8 4


 �
� 

� 

� 

� 

� �

(B)

2 1

4 4

1 2

4 4

�
 �
� 

� 

� 
�
� 

� �

(C)

2 2

4 4

1 1

4 4


 �
� 

� 

� 

� 

� �

(D)

2 2

4 4

1 1

4 4


 �
� 

� 

� 
� �
� 

� �
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32.

(i)

(ii)

(iii)

(iv)

(A) (i)  (ii)

(B) (iii)  (iv)

(C) (i)  (iii)

(D) (i)  (iv)

33. 1930 

1945 

(A)

(B)

(C)

(D)

32. Deficit on the balance of payments

accounts can be corrected through

.................

(i) Demonetization

(ii) Nationalization of industries

(iii) Exchange control

(iv) Import quotas.

(A) (i) and (ii)

(B) (iii) and (iv)

(C) (i) and (iii)

(D) (i) and (iv)

33. This financial institution was

established in 1930. Its activities

were taken up by the International

Monetary Fund in 1945. It may lend

to the central banks in the

world that are its members. This

description refers to .................

(A) Bank of International

Settlements

(B) The World Bank

(C) European Central Bank

(D) Bank of England
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34. Council for Mutual Economic

Assistance (CMEA) is an

organization of ............. countries.

(A) Developing

(B) Soviet Union and its allies

(C) African

(D) South American

35. If the purchasing power parity

prevails absolutely in two country

world, the real exchange rate

between two countries should

be .........

(A) One

(B) Constantly rising

(C) Relatively stable but not

constant

(D) Relatively unstable

36. Exchange rate that is determined by

unregulated forces of supply and

demand are ..................

(A) Fixed exchange rate

(B) Floating exchange rate

(C) Pegged exchange rate

(D) Managed exchanged rate

34.

(A)

(B)

(C)

(D)

35.

(A)

(B)

(C)

(D)

36.

(A)

(B)

(C)

(D)
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37. The optimum tariff is ...............

(A) that minimizes the net benefit

resulting from the improvement

in nation’s terms of trade

against the positive efffect

resulting from increase in the

volume of trade

(B) that maximizes the net benefit

resulting from the improvement

in the nation’s terms of trade

against the negative efffect

resulting from reduction in the

volume of trade

(C) that does not maximize the net

benefit resulting from the

improvement in the nation’s

terms of trade against the

negative effect resulting from

reduction in the volume of trade

(D) that does not minimize the net

benefit resulting from the

improvement in the nation’s

terms of trade against the

positive effect resulting from

increase in the countries volume

of trade

37.

(A)

(B)

(C)

(D)
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38. (i) This institution began its

operations in 1947.

(ii) This institution promotes

exchange rate stability

(iii) This institution was set up after

the Bretton Woods Conference

The institution refers to above is :

(A) International Monetary Fund

(B) International Bank for

Reconstruction and

Development

(C) Bank of International

Settlements

(D) International Finance

Corporation

39. Which of the following does not

match ?

(A) Food and Agricultural

Organization — Rome

(B) United Nations Fund for

Population Activities — New

York

(C) Bank for International

Settlements — London

(D) International Monetary Fund

— Washington

38. (i) 1947

(ii)

(iii)

(A)

(B)

(C)

(D)

39.

(A)

— 

(B)

 — 

(C)  — 

(D)  — 
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40. Which of the following international

financial institution provides a ‘Soft

Loan Window’ from which

developing countries can borrow in

hard currencies ?

(A) International Development

Agency

(B) International Monetary Fund

(C) International Finance

Corporation

(D) International Bank for

Reconstruction and

Development

41. Devaluation can lead to ...........

(A) Stimulation of nation’s exports

and discouragement in its

imports

(B) Stimulation of nation’s imports

and discouragement of its

exports

(C) Discouragement of both the

imports and exports

(D) Stimulation to both the imports

and exports

40.

(A)

(B)

(C)

(D)

41.

(A)

(B)

(C)

(D)
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42. The Government budget is a record

of ............ during a given period of

time.

(A) Actual revenues and actual

expenditures

(B) An estimation of revenues and

expenditure

(C) An estimation of the cost of

public borrowings and

government expenditure

(D) An estimation of cost of public

goods and cost of infrastructure

43. Tax expenditures are ............

(A) Revenue forgone due to

concession and exemptions in

tax

(B) Expenditure incurred for

collecting taxes

(C) Expenditures incurred by

public on tax payment

(D) Expenditure incurred by

industries on tax payments

42.

(A)

(B)

(C)

(D)

43.

(A)

(B)

(C)

(D)
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44. Non-tax revenues are ...............

(A) Shared by states

(B) Collected by firms

(C) Collected by exporters

(D) Byproducts of government

activity

45. Lifetime welfare of an individual

...........

(A) Can be quantified only in some

cases

(B) Can be quantified

(C) Cannot be quantified

(D) Cannot be imagined

46. Consumer’s welfare declines due

to ................

(A) Collusion of firms

(B) Increase in consumption

(C) Increase in asset holding

(D) Freedom of expression

44.

(A)

(B)

(C)

(D)

45.

(A)

(B)

(C)

(D)

46.

(A)

(B)

(C)

(D)
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47. If we sum up present time welfare

of all consumers, we ..............

(A) Can decide public policy

(B) Can get aggregate welfare of

society

(C) Cannot get aggregate welfare of

society

(D) Can decide foreign policy

48. The concept of consumer’s welfare

is :

(A) subjective

(B) objective

(C) negative

(D) positive

49. Market regulation is required

because .................

(A) firms tend to collide

(B) firms provide welfare facilities

to workers with each other

(C) firms reduce costs of goods

(D) firms provide variety to

consumers

47.

(A)

(B)

(C)

(D)

48.

(A)

(B)

(C)

(D)

49.

(A)

(B)

(C)

(D)
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50. Which one of the following is not a

discretionary stabilizer ?

(A) Implementation of widow

pension scheme

(B) Employment guarantee scheme

(C) Unemployment insurance

(D) Shrinking of private incomes

51. The entire set of Pareto-optimal

allocation in the Edgeworth Box is

called the :

(A) Contract curve

(B) Supply curve

(C) Demand curve

(D) Edgeworth curve

52. Which of the following does not

accrue non-tax revenue to the

government ?

(A) Common property resources

(B) Natural resources to which

private property rights are not

assigned

(C) Assets created from government

investment

(D) Surcharge

50.

(A)

(B)

(C)

(D)

51.

(A)

(B)

(C)

(D)

52.

(A)

(B)

(C)

(D)
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53. Government policies are :

(A) Always Pareto optimal

(B) Never Pareto optimal

(C) Sometimes Pareto optimal

(D) Rarely Pareto optimal

54. The Consolidated Fund of India is

formed and Contingency Fund of

India is established as per the Article

Nos. ........... and ........... of the

Constitution of India respectively.

(A) 280, 260

(B) 267, 266

(C) 266, 267

(D) 280, 267

55. The basic difference between narrow

money and broad money is ...........

(A) The treatment of cash and bank

money

(B) The treatment of coinage and

currency notes

(C) The treatment of demand

deposits with banks

(D) The treatment of time deposits

with banks

53.

(A)

(B)

(C)

(D)

54.

(A) 280, 260

(B) 267, 266

(C) 266, 267

(D) 280, 267

55.

(A)

(B)

(C)

(D)
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56. The Reserve money means :

(A) Cash held by the public and the

banks

(B) Cash held by the government

(C) Cash held by the Reserve Bank

(D) Savings with the people

57. If any person contravenes any

provision of FEMA, 1998, he shall

be liable to penalty upto ...........

(A) Equal the sum involved in such

contravention

(B) Twice the sum involved in such

contravention

(C) Four times the sum involved in

such contravention

(D) Half the sum involved in such

contravention

58. As per the directives by the RBI, the

priority sector lending of the

commercial banks should constitute

................. of aggregate bank credit.

(A) 80 percent

(B) 60 percent

(C) 40 percent

(D) 55 percent

56.

(A)

(B)

(C)

(D)

57. FEMA, 1998 

(A)

(B)

(C)

(D)

58.

(A) 80 

(B) 60 

(C) 40 

(D) 55 
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59. The commercial banks adopted the

‘Service Area Approach’ in the

year ...............

(A) 1969

(B) 1991

(C) 1988

(D) 2000

60. Match the years of establishment of

the following Development Financial

Institutions (DFIs) :

DFIs        Est. Years

(a) IFCI (i) 1990

(b) ICICI (ii) 1964

(c) IDBI (iii) 1955

(d) SIDBI (iv) 1948

Codes :

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iv) (iii) (ii) (i)

(C) (i) (iv) (ii) (iii)

(D) (iii) (iv) (i) (ii)

59.

(A) 1969

(B) 1991

(C) 1988

(D) 2000

60.

(a) IFCI (i) 1990

(b) ICICI (ii) 1964

(c) IDBI (iii) 1955

(d) SIDBI (iv) 1948

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iv) (iii) (ii) (i)

(C) (i) (iv) (ii) (iii)

(D) (iii) (iv) (i) (ii)
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61. The certificate of deposits were

started in .............. in Indian money

market.

(A) 2001

(B) 1969

(C) 1991

(D) 1989

62. Which of the following is not a

feature of an underdeveloped money

market ?

(A) Existence of unorganised sector

(B) Inadequate funds

(C) Uniform rate of interest

(D) Lack of sub-markets

63. The basic two types of lease are,

namely ..............

(A) Finance lease and operating

lease

(B) Short-term lease and long-term

lease

(C) Domestic and cross border lease

(D) Financial and non-financial

lease

61.

(A) 2001

(B) 1969

(C) 1991

(D) 1989

62.

(A)

(B)

(C)

(D)

63.

(A)

(B)

(C)

(D)
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64. The first commercial bank in India

which started merchant banking

was :

(A) Bank of India

(B) Punjab National Bank

(C) National and Grindleys Bank

(D) State Bank of India

65. Which of the following statements

is correct ?

(i) Reserve Bank of India was

established in 1937

(ii) Reserve Bank of India was

nationalized in 1969

(iii) As per section 22 of RBI Act,

the Bank has exclusive right to

issue notes in the country

(iv) C.D. Deshmukh was the first

Governor of RBI

(A) (ii)

(B) (iv)

(C) (i)

(D) (iii)

64.

(A)

(B)

(C)

(D)

65.

(i) 1937

(ii) 1969

(iii)

(iv)

(A) (ii)

(B) (iv)

(C) (i)

(D) (iii)
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66. The Lead Bank Scheme in India was

implemented as per the suggestions

by ................

(A) S. Tarapore

(B) M. Narsinham

(C) D.R. Gadgil

(D) R. Gandhi

67. The ratio of female to male HDI is

known as ..............

(A) Sex ratio

(B) Gender Development Index

(C) Gender Inequality Index

(D) Gender Related Development

Index

68. Schumpeter believed in the

existence of the ............... in economic

activity.

(A) Great Depression

(B) Kondratieff cycles

(C) Built-in-stability

(D) Inflation

66.

(A)

(B)

(C)

(D)

67.

(A)

(B)

(C)

(D)

68.

(A)

(B)

(C)

(D)
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69. Full employment ceiling in Harrod’s

growth model is explained as ........

(A) Steady growth

(B) Maximum growth

(C) Limit to business cycles in

upward direction

(D) Limit to business cycles in

downward direction

70. What is ‘quasi bottleneck’ according

to W.A. Lewis ?

(A) High technology

(B) Over-population

(C) Capital accumulation

(D) Skilled labour

69.

(A)

(B)

(C)

(D)

70.

(A)

(B)

(C)

(D)
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71. Match the following schemes for

development and their launching

years :

Schemes

(a) Sarva Shiksha Abhiyan

(b) Extended Mid-day Meal Scheme

(c) Jawaharlal Nehru National

Urban Renewal Mission

(d) Indira Mahila Yojana

Launching Years

(i) 2007

(ii) 2005

(iii) 1995

(iv) 2001

Codes :

(a) (b) (c) (d)

(A) (iv) (i) (ii) (iii)

(B) (i) (ii) (iii) (iv)

(C) (iv) (iii) (ii) (i)

(D) (i) (iii) (iv) (ii)

71.

(a)

(b)

(c)

(d)

(i) 2007

(ii) 2005

(iii) 1995

(iv) 2001

(a) (b) (c) (d)

(A) (iv) (i) (ii) (iii)

(B) (i) (ii) (iii) (iv)

(C) (iv) (iii) (ii) (i)

(D) (i) (iii) (iv) (ii)
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72. Which of the following is not an

important reform adopted by the

Government of India after 2014 ?

(A) Deregulation of diesel prices

(B) Financial inclusion programs

(C) Direct transfer of gas subsidy

(D) Structural change in

agriculture and rural economy

73. Leibenstein’s theory of growth

supports which of the other two

development theories ?

(A) Balanced growth and Big push

theory

(B) Lewis’ theory and Balanced

growth theory

(C) Meade’s theory and Balanced

growth theory

(D) Solow’s model and Big push

theory

72. 2014

(A)

(B)

(C)

(D)

73.

(A)

(B)

(C)

(D)
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74. Which of the following is not a

criticism on Fei-Ranis theory of

development ?

(A) Neglects changes in land supply

in long-run

(B) Neglects industrial sector

(C) Assumes closed economy

(D) Assumes wage rate above MPP

75. A technological change in the

economy is said to be neutral

when ...................

(A) It happens without any new

investments

(B) It does not affect production

level

(C) It is both capital-saving and

labour-saving

(D) It is neither capital-saving nor

labour-saving

74.

(A)

(B)

(C)

(D)

75.

(A)

(B)

(C)

(D)
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76. The Global Hunger Index (GHI) for

India in 2018 was at ............. rank.

(A) 101st

(B) 102nd

(C) 103rd

(D) 104th

77. An important feature of the neo-

classical growth models is that

.............

(A) They invariably incorporate

population factor in explaining

growth

(B) They focus on backward

economies

(C) They focus on change in

technology in the economy

(D) They take into account only

agriculture sector

76. 2018 

(A) 101

(B) 102

(C) 103

77.

(A)

(B)

(C)

(D)
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78. Which of the following criterion for

development has been put forward

by A.K. Sen ?

(A) Social marginal productivity

criterion

(B) Reinvestment criterion

(C) Time-series criterion

(D) Income criterion

79. (i) A life table can be constructed

for a country and an area on

the basis of sex, occupation and

race, etc.

(ii) The cohort or generation life

table summarises the age

specific mortality experience of

a given birth cohort of its life.

What can you say about the above

statements ?

(A) Statement (i) is correct and

statement (ii) is incorrect

(B) Statement (i) and (ii) both are

correct

(C) Statement (i) and (ii) both are

incorrect

(D) Statement (i) is incorrect and

statement (ii) is correct

78.

(A)

(B)

(C)

(D)

79. (i)

(ii)

(A) (i) (ii)

(B) (i) (ii)

(C) (i) (ii)

(D) (i) (ii)
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80. Access to the broadcast signal from

a radio station is :

(A) A private good, but the station

itself is a public good

(B) A public good, but the station

itself is a private good

(C) Both the radio station and

broadcast signal are private

goods

(D) Both the radio station and

broadcast signal are public

goods

81. Due to urbanization which one of the

following changes we get to see ?

(A) Decreased arithmetic density

but increased physiological

density

(B) Decreased both arithmetic and

physiological densities

(C) Increased arithmetic density

but decreased physiological

density

(D) Increased both arithmetic and

physiological densities

80.

(A)

(B)

(C)

(D)

81.

(A)

(B)

(C)

(D)
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82. Which one of the following is not a

market failure ?

(A) Asymmetric Information

(B) Monopolies

(C) Externalities

(D) Economies of scale

83. Which is the least urbanized state

in India as per 2011 census ?

(A) Assam

(B) Bihar

(C) Himachal Pradesh

(D) Orissa

84. Which of the following determines

the bargaining between those who

perpetrate pollution and those who

suffer from such pollution, with

‘property rights’ determining the

outcome of that bargain ?

(A) Pigouvian Tax

(B) Coase theorem

(C) Tradeable permits

(D) First law of thermodynamics

82.

(A)

(B)

(C)

(D)

83. 2011

(A)

(B)

(C)

(D)

84.

(A)

(B)

(C)

(D)
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85. The part of Earth’s surface that is

physically suitable for permanent

human settlement is known

as ............

(A) The ecumene

(B) The ecosystem

(C) The ecosphere

(D) The biosphere

86. Which of the following is not a

Greenhouse Gas ?

(A) CO2

(B) SO2

(C) Water vapour

(D) H2S

87. What does NPP stand for ?

(A) National Population Prog-

ramme

(B) National Population Project

(C) National Population Policy

(D) National Population Production

85.

(A)

(B)

(C)

(D)

86.

(A)

(B)

(C)

(D)

87. NPP 

(A)

(B)

(C)

(D)
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88. As per World Resource Institution

(WRI), which country pollutes our

atmosphere more than the other

countries ?

(A) China

(B) Canada

(C) India

(D) Australia

89. The base year for Wholesale Price

Index (WPI) has shifted to ...........

against the earlier 2004-05.

(A) 2017-18

(B) 2016-17

(C) 2013-14

(D) 2011-12

88.

(A)

(B)

(C)

(D)

89. 2004-05

(A) 2017-18

(B) 2016-17

(C) 2013-14

(D) 2011-12
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90. As per Global Gender Gap Report

2018, match the country with their

rank :

  Country       Rank

(a) Pakistan (i) 108

(b) India (ii) 148

(c) Nepal (iii) 100

(d) Sri Lanka (iv) 105

Codes :

(a) (b) (c) (d)

(A) (iv) (iii) (ii) (i)

(B) (iii) (iv) (i) (ii)

(C) (i) (ii) (iii) (iv)

(D) (ii) (i) (iv) (iii)

90. 2018

(a) (i) 108

(b) (ii) 148

(c) (iii) 100

(d) (iv) 105

(a) (b) (c) (d)

(A) (iv) (iii) (ii) (i)

(B) (iii) (iv) (i) (ii)

(C) (i) (ii) (iii) (iv)

(D) (ii) (i) (iv) (iii)
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91. Which state has the highest

share in the loan disbursement

under MUDRA Scheme since its

inception ?

(A) Tamil Nadu

(B) Karnataka

(C) Maharashtra

(D) Uttar Pradesh

92. ‘Angel Tax’ refers to ...............

(A) Start-ups

(B) MSMEs

(C) Insider Trading

(D) Hedging

93. ‘Zero Defect, Zero Effect’ is the

mantra of ................

(A) Ministry of Heavy Industries

(B) Ministry of Food Processing

(C) Ministry of Textiles

(D) Ministry of MSMEs

91.

(A)

(B)

(C)

(D)

92.

(A)

(B)

(C)

(D)

93.

(A)

(B)

(C)

(D)
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94. Match the following :

Programme

(a) Make in India

(b) Digital India

(c) Skill India

(d) Start-up India

Date of Launch

(i) July 15, 2015

(ii) July 1, 2015

(iii) September 25, 2014

(iv) January 16, 2016

Codes :

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iii) (iv) (ii) (i)

(C) (iii) (ii) (i) (iv)

(D) (iv) (iii) (ii) (i)

94.

(a)

(b)

(c)

(d)

(i)  15, 2015

(ii)  1, 2015

(iii)  25, 2014

(iv)  16, 2016

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (iii) (iv) (ii) (i)

(C) (iii) (ii) (i) (iv)

(D) (iv) (iii) (ii) (i)
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95. International Debt Statistics Report

is annually published by ..............

(A) Asian Development Bank

(B) World Bank Group

(C) International Monetary Fund

(D) World Economic Forum

96. Which one of the following publishes

Annually Economic Survey of

India ?

(A) Department of Revenue

(B) Department of Economic Affairs

(C) Department of Financial

Services

(D) NITI Ayog

95.

(A)

(B)

(C)

(D)

96.

(A)

(B)

(C)

(D)
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97. National Urban Livelihood Mission

(NULM) was launched on ........... in

India.

(A) September 5, 2013

(B) September 23, 2013

(C) October 2, 2013

(D) August 15, 2013

98. The new National Youth Policy 2014

includes the youth between the age

group of .............. years.

(A) 15 to 29

(B) 15 to 35

(C) 18 to 30

(D) 14 to 25

97.

(NULM) 

(A)  5, 2013

(B)  23, 2013

(C)  2, 2013

(D)  15, 2013

98.  2014 

(A) 15  29

(B) 15  35

(C) 18  30

(D) 14  25
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99. The term ‘Economic Convergence’

refers to ...............

(A) Less developed countries

growing faster than high

developed countries

(B) Less developed countries

growing slower than high

developed countries

(C) A term used by World Bank to

refer the impact of environmental

degradation on growth

(D) Reducing inequalities between

the poor and rich people

100. The financial year for Reserve Bank

of India (RBI) is ..............

(A) January—December

(B) April—March

(C) October—September

(D) July—June

99.

(A)

(B)

(C)

(D)

100. (RBI)

(A) — 

(B)

(C)

(D)
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ROUGH WORK


